1/ 0gijer A0dijet/ A X dijet

MC /Data

Xdijet for 1.2TeV < Mj; < 1.5TeV, |y +12[/2 < 1.11, /5 = 7 TeV

[ | I ‘ T I ‘ T T ‘ T T ‘ T T ‘ T T ]

C ‘ —+— Data 7
0.1 =— | | —— Analysis_Alaric_FI_1ennc

- —:| . ‘ —— Analysis CSS_FI_1em npN
0.08 — = R | —+—_A 1alvTis_Alaric_StartSeale

i EEEE 11| Analysis-GSS-Startbeale U
0.06 ; = 1] | — T T

B | i 1
0.04 |— | T —

B | | \_'_1 =
0.02 |— ]

0 A A e B e
14 £ H ‘ =
1.3 = . =
1.2 = 1 1 11 =
1.1 = LT —| | || | =
0.9 &~ TR | I 3
0.8 E- T3
0l L P - =
8:% Ev o Ly T L O s \ \ e

2 4 6 8 10 12 14 16

=
a
=
o]
o3



